3 (Sem-5) HIS M 1

2018

HISTORY
( Major )

Paper : 5-1
( India under the East India Company )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7
&1 > A @1 IRTS Ted T
fa) Who was the successor of Alivardi Khan,
the Nawab of Bengal?
TR AR Hifemd @ SedleR @
wfes ?

(b) Which Nawab of Bengal shifted the
capital from Murshidabad to Moonghyr?

EARTA [ L sy T o e
TAREH @ e ?

A9/213 { Turn Over )



(c)

(2)

During which Governor-General’s (b)
administration = were the Zaminders

relieved from their police duties and in

their place police administration was

placed in the hands of British officials?

(3)

Write any two che
Ryotwari Settlement.

FRTeREEl e @K
Esill

EFE SR - (AT TS SRR (c) Mention any two res
(SIS SRR “ifed o 2 S fr Anglo-Mysore War.
B 3D {6 P JEceTed Zes e ol 2A-T2P[ T&d [’
b L (d) Write two significance
(d) Who was the ruler of Punjub during the Salbai, 1782.
period of the 2nd Anglo-Sikh War?
3aw3 B9 AR ped
8 2Ry e e cgE PR @F i
S 3. Write short notes on a
fe) Why did the Khonds Revolt against the following :
British in 18462 oo R e fOReR esqo 5 (
S8 be (e Jibed Reea e Roam (a) Political condition of E
g of the Battle of Plasse
() Name the tribes of Chota Nagpur who B Tad ARFRTA
revolted against the British in 1831. S S
S 7 qfted s Ruar w91 o
FEIReor T 3 wifee 2 () The Treaty of Allahab
(@) Who was Mangal Pandey? abe B IR Ffe
TR ATCY (P SR 7 (c) The Treaty of Bassein
2. Answer briefly : ox4=8 Svo b Qe b
e Teq - (d) Maharaja Ranjit Sing
(a) Mention the year and the parties T e R
]Eet‘“fee?h whom the 3rd Battle of (e) Doctrine of Lapse
anipal Wi
p as fought. Rzl RS

A9/213

AN PO 7 I T4 TGS F @ 575
Cafes ?
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4. Answer any three of the following : 10x3=30
oo i e bl e T foran

(a) What was the impact of Dual System of
administration in Bengal?
TRCTS (78 PH IER 2 3 i 2

(b) What was the Subsidiary Alliance? How
far did the expansion of British Empire

in India become possible through this
system?

FAa e B owlkmr @ WM awaf
SReHS e A ReR M e cafke 0
(c) What were the causes of the downfall of
the Marathas?
TR *Ied TP & wifee 2
(d) How did the Revenue Policy of the
British led to the rural indebtedness in

India?
e AT R sEes A
e I IR

fe) What do you understand by
commercialization of agriculture under
the British? What was its impact on
Indian society and economy?

TS FR A T B e

WA Fofe SRS TS 9+ G B oo
=(fafet 2

() Discuss the nature and result of the
Mutiny of 1857.
St B Rz oS w1 e wgama
1

* ko
A9—6000/213 3 (Sem-5) HISM 1
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2018

HISTORY
( Major )

Paper : 5.2
[ History of Assam (1228-1826) ]

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence : 1x7=7

oo A ey Td ot 1 37 9ot s fia

(a) Who is the author of Fatiyah-i-Ibriah?
‘FfenrE-2-2RAET G FM?

() Which Ahom ruler first introduced the
ceremony of mounting on Singari Ghar?

coTTEe S G2 4IRS A e w1 T
e o SR ?

A9/214 : ( Turn Over )



(2)

(c) How many Paiks were placed under a

(@

(e

(9)

Rajkhowa?

T FECARE ST G F4GE %S e 2

Who surrendered Gauhati
Mughals in 1679?

to the

S04 TS (T B0 IS STHef s 7

Who was Krishnaram Bhattacharya?

FEAT SHBR (e SfRE 7

At the request of which Ahom king did
Captain Welsh lead an expedition into

Assam?

e SC2 WA SIS (SoEE STEEs

ST S beiRfEE 7

What was the last capital of the Ahoms?

SRR G e & wifes o

2. Answer the following questions in brief : 2x4-8

SS9 2PRPTEA T0F Sad firg

(a)

Who was Detchung?

CO58 (R S1fe 9

(b) What was the importance of Gohain

A9/214

Kamal Ali?
conrife T e R gwge) wifeE 2

( Continued )

(3)

(¢) Who was Kuranganaya
A P EE 7
(d) Who were the Burkend
ARRITET (T % ?
3. Write short notes on ar
following :
were fir i e fofatm eeiee 1
\/(a) Koch coins
T
(b) Suhungmung
P
(c) Posa system
“[61 &l
(d) Treaty of Ghilazharigha
Rerenana i

(e} Economic condition
Kingdom

= IR wAfeT wew
4. Answer any three of the follo

werq il celcen TG 243 Tl

& Assess the importance ¢
a literary source for the

the history of medieval
TRR W o= Al
Afefere w97 f2ve g%y 2

A9/214



(BaN)

«Ab) Critically analyze the role of Sukapha as
a founder of the Ahom Kingdom in
Assam.

WS 2N e AfEHT Ror perEFE P
FRACEAGATTS JESaIA [eaded 47 |

(c) Examine the role of Naranarayan in the
*~"  expansion of the Koch Kingdom.
@b @A R crge AT g
TG T4

(d) Give an account of the Ahom-Mughal
conflict during the reign of Pratap
Singha.

Ao Bizy EEFEe S-SR 9
fqe fram

(e) Who were the Moamarias? How far was
the Moamaria Rebellions responsible for
the downfall of the Ahom Kingdom?

CIRTRIEPTR FF SIfed 7 SIeET A6 2[eq
A TREA e [FeE e 2

() Discuss the circumstances leading to the
signing of the Treaty of Yandaboo.

AR ~ffEfs e A wrefre 2ok,
AT 41 |

* &k
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2018

HISTORY
( Major )
Paper : 5.3
[ History of Europe (1789-1870) ]
Fuil Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence each : 1x7=7

fPEfRS piye afedm TeT @Bl = 97 @6 TS
fra

(a) “Man are born free but everywhere he is
in chains.” Who said this?
‘qE wMe ¥RM RO WCT Tfis  FECE
TS (ST Pl A {1 A 17 FAAE
CIc CofEe 2

() Name the leader of the French Revolution
who advocated the theory of Separation
of Powers of the Government.
w4 Red GroEER AW @9l f s saerE
e AR 0T TS TS |

A9/215 ( Turn Over )



()

(@)

(e)

(9)

2. Answer the following questions in brief : 2x4=8

(2)

In which year was the Battle of Waterloo
fought?

SR Ja (T 570 TGS G2 2

Name the Russian Czar who took the
initiative in the formation of the Holy
Alliance.

G A 977 AT ST R RIS
= fe= )

Who founded the Young Italy’?
TR WA @A afedt whifeE 2

Name the Russian Czar who said ‘Turkey
was the Sickman of Europe’.

TEFE WER FT @1 9 AfaE e
| Cfee 2

In which year was the Battle of Sedan
fought?

A T T 519 Cafeet 2

fafeie Pz vate Tev fi

(@)

(b)

A9/215

What were the principles that governed
the Vienna Settlement?

ﬁﬂtﬁﬁ%emm¢mﬁw
Afefe wifee 2

Why did the Holy Alliance fail?
IR 5f& R 94 2afem o

{ Continued )

(c)

(d)

(3)

Name four countries
repercussions of the I
of 1848 was seen.
Eucily oo ool
T R A1 “[@1 741 ¢
Mention any two cause
the Frankfurt Parliame

@FEED s 99 @R
24 1

3. Write short notes on ai
following :

FrafifEe f e feofibm esas

(@)

(b)

(c)

(d

(e)

A9/215

Congress of Verona, 1¢
CSTEAT FLAR, SR
Louis XVIII

e R

Results of February Re
Sr8b b (TR REdd T
Cavour

ceed

Battle of Sadowa
ORI T



(%)

4. Answer any three of the following questions :

10%3=30
faferfe R o fofor e Tee i «

(a) How did the philosophers contribute to
the outbreak of the Revolution in France
in 17897
IS Sars be e @EA A R
(O A<= eiifee ?

(b) What was the Continental System? How
did the invasion of Russia prove
disastrous for Napoleon?

e W 7 owfEr cenfre itk
e A (969 e wifeife 2

(c) What were the provisions of the Congress
of Vienna? Do you think that the Vienna
Congress ignored the claims of
nationality in Europe?

oo s wee R @3 wen
wewOR SRR ofs Ryy wife 9 sifRke
R G 7

(d What do you understand by the
‘Metternich System’? Why did it fail?

CIORfR T qferca & @2 3 R 9y 2'E 0

(e) Discuss the importance of the Crimean
War.

Tl T2 97 S 39 |

() Give an account of the causes of the
downfall of Napoleon III.
T AR TR IR @b e
faan

ok ok
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2018

HISTORY
( Major )
Paper : 5.4

( History of Science and Technology
in Pre-Colonial India )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence : 1x7=7

Fafafs eppryz ob == 7 @51 TS T i
(a) Name a tool used in the Palaeolithic Age.
oReRFT oS <ZR FA1 b1 g A B |

(b) What was the primary feature of the
Neolithic Age?

TReRE e AU e e e 2
A9/216 ( Turn Over )



(2) (3)

() The Harappan Culture is characterized () Name any two astron
by the extensive use of which metal? India.
T M99 T TR T KGR R effot S GG 7o ¢
Tl e 2 (d) Who was Varahamihir:
(d) Which period witnessed the first use of 6K .

iron technology? k
3. Write short notes on a

(IO 7S Gl 4TgA CAMEANCH I8 91 o] following :
A2 oo fir R @I fRfEA ¢ RS
fe) Who was Susruta? ' (a) Mesolithic technology
S (o T 2 T P AL
(7 Who was Bhaskara [ ? PIREEIR
AN SF & Sfe ? i g
. (c) Gunpowder
{g) What is the Persian Wheel? IR
3 t] 9
o <’ R (d) Microlith
2. Answer the following questions in brief : 2x4=8 T
fafefe wpie vite Sag fim fe)tetia
G
(@) Name any two new technologies of the
Later Vedic Period. 4. Answer any three of the foll
CTEER 1 RIS (3 PR R
(S Cl
AR il e R o R e
Write a not NP 3 (a) What were thelftedhy
ki Black Ware), G ments during the Mes
e R G STE% e s o e S |t

A9/216 (i EhrEmreany ears



(4)

(b) Discuss how the use of iron technology
revolutionized agriculture.

@l efERmM T2 IR cras & @ Raag
el R, ST 341 |
(¢) Examine the advances made in the field

of mathematics and astronomy in
ancient India.

abi SRTe e wR cTRRER R
R R wfofez, R w411

(d) Estimate the contributions of
Aryabhatta.

SSG SE Te F |

fe) What were the technological advances

made in the agro-industries in medieval
India?

TIPR SHes SRRe  SomeRm  cvge
R 2Rfe R afea o

() The textile industry was revolutionized in
medieval India. Elucidate.

TR SR T Seeze o3 R
Czf=a | w740

ok ok
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2018

HISTORY
( Major )
Paper : 5.5 -
[ History of Great Britain (1485-1820) |
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence each : 1x7=7

Fafife snrazm 4GRS @1 = 77 @b TR
firam -

(@) What was the Court of Star Chamber?
O] I TS [ e 2

(b) Who was Thomas Wolsey?
2475 o (1 A ?

{c) Who was known as the ‘Queen of the
Seas’ and after which event?

S 9 oA T @R W wE & waE
ez 1?2

A9/217 ( Turn Over )



(d)

(e)

(9)

(2)

Who founded the Bank of England?
TG @S (A Aot Ffaf 2

What was ‘Morton’s Fork’?

TR o 6 wife 2

In which year was England united with
Ireland?

@ TS IS UFE URHEGI  GFaFae
cafeE 2

Which event in England, led to an

increase in proletariats, unemployment
and poverty?

VS I T R TR e,

IE wRwer AR Rk 2
2. Answer the following questions in brief : 2x4=8
forafs ez vt Tee i
(@) What do you understand by the

(b)

(c)

A9/217

‘Reformation Movement’?
SIER S e @ e

What was the Long Parliament? What
were its aims?

F 0T & wnfe 2 W e R Wi 2

How did William III try to bring about
economic reforms in England?

‘\?‘@[‘q 3oy itact Eic oo o SeRa-
e (49 o 0

( Continued )

(@)

(3)

Mention any two effects
War of Independence on

YEs ACIREN TSl T
TrEd I

3. Write short notes on anj
following :

e R o fefoma o

(a)

(b)

(c)

(d)

(e)

Religious policy of Quee
A 29w wfEcaes (T A
Oliver Cromwell

HfeTe FHCA

Bill of Rights (1689)
SRFRA Reaws (Sews)
The Whigs and the Tori
%361 % HAPTEA

Economic effects of Indu

Tomrsl Rz AR T

4. Answer any three of the follov
oot i e Feft e Sed i

(@)

A9/217

Under  what circus
reformation brought ab

during the reign of Her
w3 (FAR qEEEEe
FeFd o G2 2



st

(b) “Mary Tudor’s reign was the time of
Catholic Reaction.” Elaborate.
“@R e rreEEE: Wit @9k
<ifSfeFuTa ST 1 Tt foran |

() “James-I's reign is called one of long
quarrel between the King and the
Parliament.” Elucidate.

AT (A MPEES T8 W AT TR T
RIS Y (Tl 20 1 g 541 |

(d) “The kingship restored in 1660 differed
from the kingship by Divine Right of
James-1 and Charles-1 and from the
personnel rule of the Tudors.” Explain.
Sbbo BT R oSl (a1 ey wv s
SR g%\ e O WRRR W s
IEMS *PTTete 4% Sfea 1”7 2y <o |

(e) What were the important Acts passed by
William ITI? How far was he successful in
removing the evils of Stuart absolutism?
PO B A w0 oem HEPRE %
e 7 GEoem tyems SRR @edTs
=8 [T s7ee ?

(f) “The reign of the first two Georges was
very significant in the Growth of Cabinet
System  of Government in England.”
Examine the veracity of this statement.

A PR W A Yoo SRy prE
bR A% R cvge o P 7 |3
IR AT Forroger 2oy |

* ok
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2018

HISTORY
( Major )

Paper : 5.6
[ History of China (1839-1949) |

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese
Answer all questions

1. Answer the following questions in one word or
in one sentence : 1x7=7

were fral eRpTyEa TR <l = 7 @bl s fi

(a) How many ports of China were opened
for the foreigners after the Opium War?

wiftR gF Pree BHe @2 TR R
3 Tl < vafeet 2

(b) What do you understand by ‘Kowtow’?
=T5e’ 3 & @

A9/218 ( Turn Over )



Boxer F
() Which treaty concluded the Second (b) What was the
Opium War? @ 475 R ?
I pE were Ty Wi Taa s =7 7 () What were the fthr
{d) Which Western countries supported the Dr. Sun Yat-sen?
Manchu rulers in crushing the Taiping Blo B @e-5d ‘fa-T@
Rebellion? )
B2 Roar= TR (RTS @ @ AT oot (G f‘zsz%;:ct;‘}::spm
were 1
W APTREET TN TR 7

‘@'\S‘ﬂﬁ’ W)ﬁw

(e) When and between whom was the Treaty
of Li-Lovonov concluded?

A W I R TS foi-cors’ s E% 3. Write short notes on
llowing :

TR Cafie 2 2 :

wofe fam R e FofAbm eof

() Who was the leader of the Kuomintang

Party? (a) eaty of Nanking, 1€

CRISRRDR 7o Tl (e e o 83 B AR 5

(g) Name the place where the Chinese

(by Significance of the Tz
Communist Party was founded in 1921. /

e Roaed wreetd
3833 BT (M IES Blrer SR T= A !
41 (2f2E? (¢ Yuan Shikai
7 B 91X
2 Ansv;;: the followm;iu;;tions in brief : 2x4=8 (fﬁ Chiang Kai-shek
o7\ .
T Tl PP ol ; B, o
(a) Trace two significant reasons for the
outbreak of the First Opium War. ‘4{ Mao Tse-tung
4% EE TE R 1 SrEy o e &R
fer |
A9/218 A9/218
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()

4. Answer any three of the following questions :

10x3=30

e i e fofbt e O fimn

(a) Discuss the factors that led to the
opening of China. Was opium a crucial
factor?
(IR TR A3 Daceta Reh =ifeq 2
I 2 C2fes, S Sl 1 @3 s i
4% BT AT Wik ?

(b) Trace the results of the Taiping Rebellion

/ and discuss the causes of its failure.

PR Remr weermz wf o we @3
s o sReRs weems w4 |

(c) Discuss the causes and consequences of
the Boxer Uprising.
T TG ST SF FerlFe SCaos) oy |

(d) Bring out the significance of the
Revolution of 1911 in the history of
China. To what extent was it successful?
T @S 3533 T e wiesn Seay w1
<2 Rea R swe cafes o

fe) Assess the contribution of Dr. Sun
Yat-sen to the political history of China.
PR AT R Wo 5 qre-co

() Review the history of the Communist
Party of China from 1921 to 1949,
>335 DR M1 S8y WA BECTR FYRE o
2fo2 A 39 |

* 4k

A9—6000/218 3 (Sem-5) HIS M 6



